aA

1) 5A+3+BA-4=94+3-1
(-5A + BA) + (3 -4) =11
A+ (-1)=11
+1 +

3A =12 A4

3 3
Chock: -5(4)+3+8(4)-4=9+3-1
2043+32-4=9+3-1
11 =11
Chocks for #£2 - #14 will not be shown.

2) 3B-B+7+4B=43

6B+ 7 =43
T 7
68 =36 B=6
6 6
3) AY-6+7Y+3+Y=17
4Y -3=17
+3 4+3
,ﬂ =20 ¥=5
4 4

4) 50+30-6+2Q=(2+3)+9
100 -6=14
+6 +6
10Q =20 Q=2
10 10

5) BK-5+4K-K+2=12-2
OK-3=24
+3 +3
9K =27 k.3
9 9

g) 5C-2C-B+T7-C=3-4+1
2C-1=13
#1 +1
2 =14 .7
2 2

1) X+3=9
+3-3=9-3
=6

2) X+B=10
X+6-6=10-6
X=4

3) 2X+5=11
2X+5-5=11-5
2X=6

oX4+2=64+2
X=3

4) 4Q-2=10
40-2+2=104+2
40 =12
Q+d=12+4
Q=3

8) AX 4 2=22¥ 4+ 8
A +2-2 22X +8-2
A = 2K + B
X 2% = 2% -2X +6
2X =8
2X+2=6+2
X=3

6) Y +5=2Y+7
A +5-522Y47-5
3¥=2Y+2
Y -2Y =2 2Y -2¥ + 2

¥=2

8) SR+8=3R.2
?R-2R+8=3R-2R -2

8=R-2
B+2=R-2+2
1M0=R
g) 9-3 ) B-11]
6 L7l
6 < 7
10 h-2-31 G 2x3]
ba | Bl

4 < [

8) WB-2B+3=5B+21
BB-5B=21-3
B =18

38 B=6
3 3 -

9) 6C-84+3C=7C-2C + 12
9C -5C=12+8
4C =20
4 4

10) 6D-10=-2D-34
6D + 2D = -34 + 10
8 =-24 D =-3
a a

1) 3A-3-6A+10A+5=10

A+2=10
2 -2

A = B A =8

12) 5B-B+4+10B-T7=7-11
4B-3=77
+3 +3
4B = B0

4 "4

B=20

13) 4R+7R-3+5R=102-7
BR=100-7 +3
R = 9%

8 T R=12

14) -7TQ+8-6+50=3-5-7
20+2=8
-2 -2
20 =6
-2 -2

1) (Wxd+62x(-2)+5=
vaxd--lﬂﬂ-:[2g+25:
-12 + (-108) + 120 + 25 = -85

12) 14-94+22)-(3+6x22)=
(14-9+4)-(J+6x d)=
9-(A6x4)=9-(12x4)=9-2=7

4 B 2
13. ":é"':-—l-u—-lr T =
1
8% 3 _ 6 _ 1
X X = = 1 —
F3 w oz 5 5
1 5 i
14] AT
_8
5
B&

136 (three decimal places in
anawer)

15) (-8)-7) =56
16) (-4)2 = (-d)(-4) = 16
17) 2=2.3=3.4=2x2,%0LCM =2x2x3=12
6 1 4. 2 3 1
— —_— X
(It is not necessary io wrile in “1° when
dividing lerms unless you wish.)

G+8=3X, X=423
18) 2,5, 4=2x2,50LCM =2x2x5 =20

a
'l?ﬂja X+ I.?'-'-"-' (13‘}?
12X + 15 = 30, :.nm

19) 3,5,9=3x3,50LCM =3x3x5=45

oL x+ -2 = Yun L.
§ & g

SX+3=9 X=:415

20) 4,4=22x2,8=2x2x2,
soLCM =2x2x2x5=40

Cant 3 2 — % ='lagn 3
MT'N&};I ?9‘71‘,'
BX=15 X=-178

3B

1) BA-5+4A-64+2A=19

JA-11=19
+11+11
JA = 30
= — A=10
3 3

Check: -3{10)-5+4{10)-6 + 2(10) = 19
-5+40-6+20=19
189=19

Checiks for #2 - #14 will not be shown.

2) BB-6+53-3-3B=11
10B-9=41
+9 +9
108 =5 g
10 10

L]
n

3) 5Y+3-6Y+2Y+4=13

Y +7 =13
-I =7

4 BQ-Q+7-4-30=7+4x10
40 +3 =47
-3 -3
40 =44

—_— _— Q=11
4 4

5 BM-4M-6-3+5M=82-1
OM-9=63
+89 +9
M =72

9 9

M=8

B) 7C-4C +5-8+Cu52 4+ 4
4C-3=29
43 +3

7l MA-4A-18=2A+A + 10
TA-3A=10+18
AA=28
4 4 A=7

aD

4) E‘ﬂvﬁi‘l

M+2= BJE
D=3

5) 4E-3=-3
4E =0
E=0

6) AX+B=2X-2
A +2X =-2A + 2% - 10
5X =-10
SX+5=-10+5
X=2

77 2Y-2=3Y-6
27 -3 =64+ 2
' B

(=1 H_—'\'} -1-1 J{-4)

B) Z+48=2Z+18
Z2-27=mi1B-8
Z£=10

Z=-10

9) Bxzxtal G2+t
k12| A
12 > 8

10) h7-3-201 Ce) 4041
21 Bl

6 < 8
11) [(6-2)x5 -10]+5% =

[4 % 25-10) + 25 =
[100 - 10] + 25 =90 + 25 = 3 35 0r 3.6

B) 2B-10B-15+5=88-40- 48 -
8 88 - 10 = 4B - 46
B8 - 4B = - 46 + 10

-128 =-38

2 a2z Be3d

9) 3C-6+2C=10C-2C+6
5C-6=BC +6
5C-BC=6B+6
3C =12
— — = =
-3 -3 G

10) 2D-8-50=-3D-2D+6
3D -8=-8D + 8
3D +5D=6+8
2D =14

2 2 D=7

1) BK-6+3K-2K +3=4x33
BK -3 =132
+3 +3
9K =138 s
9

12) B+B+B+6=6B+5-2B+9
AB+6=4B + 14
6-14=4B-38B

4 =B B=-8

13) 2C+12=2C-64+6C-12

-2C + 12 =8C - 18
-2C-8C=-18-12
40C = 30
10 10 C=3
14) 10X-3X-9+3-X=51+3+1
BX-6=18
+6 +6
62X = 24
8 6 X=4

12) (-7-6)2-(4+5-302 =
{(-13)2 -62=169 - 36 = 133

5 3 2
1 — W
3 = X 7 +—-—3 =
5 a 3 15
F‘“T‘T"T{
14) 14,
a2[ 188
12
48
48

15) 2=2,5=510=2x530LCM=2x5=10

16) U"ﬁ:? X+ ﬂﬂ]' LW}?I
12X + 7 = 25X, K:Tﬂﬁ

17) 100 = 10 x 10, 1000 = 10x 10 x 10
LCM =10 x 10 x 10 = 1000
1000(.83) + 1000{.04X) = 1000{.325)
B30 + 40X = 325
40X =-505, X=-126250r -1258

18) 10=10, 100=10x 10
LCM = 10x 10 = 100
100{.18) + 100(.2X) = 100({.17)
18 + 20X =17
20X=-1, X=-05or-120

18) 10=10,100= 10 x 10
LCM =10x10 =100
100(.8X) + 100{1.3) = 100(7) + 100{.24)
B0x + 130 = 700 + 24
80X = 594, X=7425 or T17/40

20) 10=10,100=10x10
LCM =10 x 10 = 100
100(8.2) - 100(4) = 100(.08X)
820 - 400 = 8X
420 = BX, X=525 or 5212

ae - J€ suonniesg

8¢t - V£ suonnjog



